BH2F 1
HEFE AU 1 AL L AR IR IR M E

——2A0 AR 55 B 5 R RS - 4 )

DO i e N NG Tl e WA ) (7R S0 3 S SN N N T T e S e = I VR R
FAMG BYERE . SEREN TR TR, AN, TREIH. Ny InE
LU

%ﬁi%&ﬁ(%3%)%M%ﬁ&%ﬁui%*ﬁﬁiﬁﬁﬂﬁwﬁﬁﬁﬁ

A ENEZRG (AT 3 44) SISO 24 Q0 BML N 2R3 H R 457,
Aﬁélﬁ%i@% ine e A BT 2SI il -f%g%ﬁﬂ%tﬁ
RYARWI (AT 2 4) B REFECR: SRR ERE— KN ERE%
B ZAEBCEAC SR — e N . 3y BFR 2 73, i 2 20 104% 2 0 ih 5.

nsyR

FEREW REER ngr LR
— Aty 1.2
S KA B R AR —R 1
=% 0.8
Aty 1.2
A B A R = 1
R B3 0.8
P 0.6
P 1.2
TEAM AR R — Ay 1
RGWI KT :£% 0.8
14 0.6
N —ﬂ%w 0.6
FEAIM A KRR 5 0.4
ARG RIERALTEX jéw oé
ACM / ICPC 4Bk i k3% S 1.6
ACM / TCPC WM X 3§, CCPC #ﬁi og
L A R - i :
e N e S S A e B 0.6
Ay 0.8
CCPC AALIEIX . BRI K — 06
FAREF RO TR BT 0.4
B . —%K 0.8
MCM/ICM [ Br. 4= ER A4 g 0.6
AR T 3R — :
=E8 0.4
— 2ty 0.7
AL =B HUE RS e 4 0.5
=& 0.3




E YL N KFE (FIRA AR —EA 0.8
M, RoboCup AFH3E, [EHER Ay 0.6
INGIE-INE N NN D) 4 0.4
Mt Bt HE —&% 0.8
S K2 IR 29 — T
. _LSFOR .
B 5 R w5 EETT W
Y
SRR BHA O — -2
ERAGE =& dz
o ; —ER 0.6
ik 2 A R 4% B —
- =y 0.2
LAY
U 7 K2 B 17 K £§ =
% - .
=& 0.2
fE imaginecup200 & R 0.4
rh ] [X 4 & 4 1.2
imaginecup 3K “BIHH” ] (X — 2542 1
ARIFEITH [ X &8 0.8
i E X =453 0.6
RpeEI 1.2
CHRERAR” 4 [E K2R R AR ‘*%W 1
Hi2e R 5w 3% g +4 0.8
:}#W 0.6
o o g 0.6
ST “ PRI K % o
GRS AR T & 0
R 1.2
“BIEER” EEKEACNE K — A 1
7 2 0.8
=& 0.6
LAY
WA O K] 0.6
Wk g A 0.4
=R 0.2
LAY
BT SN | 0.16
e Aty 0.12
=Ny 0. 08
R BRI RTE | TR 0. 16
LAY
ST A TR 3 #gﬁ 0. 16
s Ak 0.12
- =& 0. 08
—GEA 0. 32
4 [E KA TR T 3% 24 0.24
B4 0.16




FRoE AL 0.8
. . . — & 0.6
A A A s i
LA AAKEE (HFD) ;éﬁ oé
P52 0. 08
WA 2 [ B AE B AR v 0.0
AL ANAKIE (B
— LA 0.6
] BRATL 2% 7K R L4 R 3% 2.4 0.4
=& 0.2
—GgA 0.4
THHEPLEZE RS -4 0.2
=& 0.12
5 N 'ﬁl' 1 1
¢E%#ﬂ§;$%#&ﬁ 7% 0. 16
G 1.2
R “H BRI 47 KR AT — a4 1
NN TN 0.8
=& 0.6
\ . 1 0.6
I R KRB o2
I %/ \% — = .
Bl =% 0.2
— % 1
I P LXIE IO — e
(Rob Robocon) —SF K 0.8
obomaster. Robocon E—ffé% 0.6
—GA 1
e DN SN TN AR NG g 14 0.8
=FR 0.6
— AR A 1
SN R - Y IR Sa N - -4 0.8
=& 0.6
s - — At 0.6
b 2 A L A 2 _;ﬁ o2
/I\% — .
H BT 0.2
—EA 1
o [ E R T EAL R SR 4 0.8
=& 0.6
—GA 0.8
HAPLEE N K FE T 0.6
=R 0.4
. et —AtAy 0.8
4 [ K E IR B 32 58 s 0
LSTFEOR .
(TI # ErTn W
—EAL 0.6
0.4

eI SN DN S

AR




AR 0.2

—EAL 0.6

AR E R AT Bhik 2% Ay 0. 4
=& 0.2

— LA 0.6

SRR N - 34 0.4
=& 0.2

s ] — 2y 0.6
CCF KA EN ARG S5 F TS 0
Lo e — TR .
witsegE (CCSP) e s
e — LA 0.4

A [ S A Bk IR N FH 18T K e 00
& =& 0.08

— LA 0.4

e IR YN =85 87 W - 34 0.2
=l 0. 08

P SN OIE R NAYE e 0.6
T H NG 25 R, HON 34 [ Ok oy 04
e BB b B A kA - ;
BIFHE ST H TR E FE=FE 0.2
. N FH—AEE 0.8

CSCD #% Uy HAF) B R R 1B ik w
A F—EE 1.12

SCI. SCIE #1% it (2 0.96

A F—EE 0.8

ELAR Bl 064
CIRIZAUR B & F] BEH 1.12
AR EERUCEIE B 0.3

e 1. FrAREISEREEM Y, Rég i BB, B o o8 i Be e S v e /N
MRYE T DL INE o
2. HETEFRRA A B e S VP e /N E AR I SR ALK L4 T I

2. KRB, LR IIMT LTI sy R 0.3 4y, i 0.3 40 14% 0. 3
. RN (MERR LEHE T ARE TR . 3N BB 0.3 41,
L 0. 3 73 HI4% 0. 3 7015

3. FRBE s & AR R A) % 07 I R ILHEAT VS, 3 Hhom 4y S s v 0 HL A o
A=A RN (EFRL WICRRAN » t3ma ARG 0.3 4, BRI .

FER AR 25 & R IG5 3R

=2 Ji[iFax
il yili| e
B K5 gl s
1 B A 0.09
2 \ . P o e 2 o 4 0.09
2 SR NN
3 & S bRt 0.09
4 W2t 0. 045




lag : yiifag

B x5 yijifa 2l st

3 A 0. 03

6 A 0.015

7 B = bRt 0.075

8 KA T A5 Fe 0. 075

9 KAHTAS Fe 0. 075

10 BAEEEY A 0.075

11 SERETHL WA FER S 0.075

12 B =55 0. 045

13 BT 22T 0. 045

14 BT 375 4 0. 045

15 KA TS B35 0. 045

1 | BORDEE Relh 75 3535 B 0.06

17 b A2 45 B0/ B S A 2 1 R/ B B %/ B4 0. 075
HLG S5 R AT '

8 RETFHEZ | BRI I]/ SR/ SRR R /E 0. 06
i} A ot Bl AT '

19 R/ PR/ 1SS 0. 045

20 Fofh #2843 0.015

21 Cspfiﬁiﬁ“ 400 4% (£ KULE 0.3

22 | ARHEE PR T AR E BRAg i T H 0.075

23 itk HoAth 2224 5 Bh [ B AZ 3 0 H 0. 035

B A 0.3

04 R LR () 0.2

(O FVIEE 0.1

BhAEH 0. 05

B—EH 0.2

S | B AfrH 0.15

CATF) (e 0.1

5 VUES 0. 05

FAAEH 0. 03

F—1EH 0.15

o | SRR A AP 0.1

R BAEH 0. 05

FVUEH 0. 03

FHAEH 0. 02

B—EH 0.1

o7 S B A& R AR 0. 08

() A 0. 04

5 VUESS 0. 02




T o AR e
8 hAEE 0.01
FAEH 0.3
0 sczéggﬂE Py 02
FIAEE 0.1
B =AEH 0.2
29 El fr& FVUEH 0.1
5B RAEH 0. 05

T F— A BRI

AN 4

D

7]

ARG 2 7, B 2




